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Solid angle of TOF detector

e With current design (height 825)
 Calculated geometrical efficiency is 0.64

arcsin (sin a - sin f#)



Mean time difference distribution

d T [ 1 ] _ d T [ 3 ] (Tmean[4]-Tmean[3])-hitX[3] {cosTheta>0.95&&chi2/hitN<100&&hitInfo[4]==1&&hitinfo[3]==1&&hitInfo[5]==1}

d T [ 1] d T [ 3 ](rmeunm].Tmeanla]):mx[a] {cosTheta>0 95&&chi2/hitN<100&&hitinfo[0]==1&&hitinfo[1]==1&&hitInfo[2]==1}
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Time resolution of Bar 3,4,5
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* More stable when all bars have events (12hits per event)



100

95

90

85

80

75

70

65

60

55

50 11

Cos >0.99 & hitN==12

100

95

Bar3:*
Bar4 : e
Bar5:0

90

85

80

75

70

65

60

55

I L1 | I 1| | L1 1 I L1 | I L1 1 | L1 1 I 1| | L1 1 | | | 50 11

Cos >0.95 & hitN==12

Bar3:*
Bar4: e
Bar5:0

* Compared with +-5cm bin, +-10cm bin distribution shows more stable

condition

* Cos >0.95 is good enough and stable by better statistics(?)
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